214 0, b ol Thstel V(12 - VD) - = aVi+5V6 2 i,
a+12b 9] gh= F-skoiet,

R Eia+120=






sholat,

=7

S 2a+b

b 2tal



\/4_8+2

@ 2 3 3 @ 4 ® 5

D1



5. (x+6)(x+2 = = =
)+ k 7h 9 Al Alo] | o, % kel ole}
o = O]' .

Beir=



6. (2x-a)?=4x2-(b-5)x+492 W, a + b2 IS F5lodgt. (&,
a>0)

Hla+b=



7.

MR 5] Zold] Bl7h1:3 ¢l & o

40mem? & off, 2h2 Ao Hrz]F2] dol= % em

@D 1lem @ 2cm ® 3cm



M —-m ] gk

@ -5 3 0 @ 5 3 10

D =10



9.

FolAPAHA 2 +x-p=0,x*—gx-8=09] ¥

2p +q ° = ool

w
=

oft



ot

FAA 22 —7x—4 = 0, 222 —5x—12 = 0 = FA] 9]
5

o]

= o]2
=
x 9 e 7

10.

.

Ul



